normalized X?

[ normalized x? probability |

chiz ThiZ_prob
Entries 779 ——————————Enmes 779
107 Mean 09577 i_ - t | mean 0.5626
Std Dev 05188 0.03f--: + - [ std Dev 03032
o2 : hiZ_prol
_, Entries 779 1 [Enties 779
10 Mean 09577 0.025 Mean 0.5626
Std Dev. 0.518: Std Dev.

0.02

107
0.015

o +0f !

¢ I R

214 RO HEnne |

l i i i i i i i i

- W

IR R R A :
09¥0—2"4 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X? Prob(x?)

5 s
% r X E ]
S 18feeeeee AR S peee AR N
< F : : : |: : 2 3f-
Y [ . . . s . - F 1
16 Feeeeedeeens o Peeees o E. 3 1.
1.4 | === DQM_v0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN
1A2:__ === DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all
I )T ER B
3 (111 _Hﬂ_ —2F--{{-
0.8 + * ¥ *-+-} ----- -3F--{f
L “E
g+ o +Bf=
T T
o | 1 @ .
= | T- 1 x
0953 1 2 3 083 1 0 3
n TP n (PCA to beamline)
A [ A [
bS] F - 5 E
AET: SERRRPEPR feeeneaes e £ 18p
> F < 1.6f-
\ Y S A v E
Lep 1af-
1.2F
-
0.8F-
0.6F
0.4F
Eo e 0.2F
’ o O
T
@
0.5
1(l)2 (0 1C0'3 — 1072 107t
&T AR(track, jet?

<dpp. > (%)




	Contents
	Page 1


